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XRv90000i| M CI|O|E{ BE ™Y A= DPA(Data Plane Agent) @1 B, ASR9000 & 3HE 01| A{= NP(Network Processor) &L |Ct.
XRv9000 HIO|E E22! ol O|ME ZLIE{Z(DPA)

DPAS| EC I SHE &QlE = Uz f38H WH2 o3 2 &Lt
show controllers dpa statistics global
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<#root>
RP/0/RPO/CPUOQ:xrv9k-01#
show control l ers dpa statistics gl obal

Index Debug Count -—---------------mmm o 350 TBP
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show controllers np load all

show controllers np counters all
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<#root>
RP/0/RSPO/CPUQ: ASR9k-B#
show controllers np | oad all

Node: 0/0/CPUQ: —===-——-—— oo oo Load Packet Rate NPO:

<#root>
RP/0O/RSPO/CPUOQ: ASR9k-B#
show control lers np counters all

Node: 0/0/CPUQ: ——--——-———m oo o e o e e Show global stats cou

LPTS 2L|E{E
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show Ipts pifib hardware police location <location> | inc "Nodelflow_type|BGP"
of:
RP/0/RPO/CPUO:xrv9k-01#sh I pts pifib hardware police location 0/0/CPUO | i "Nodelflow_type|BGP" Node 0/0/CPUO: flow_type priority sw_police_id hv
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oM E:l diole BE:

Cisco-10S-XR-Ipts-pre-ifib-oper:Ipts-pifib

I LPTS &7 7t 2HE %I = A& LT ZLIE> AlARIM o[248F 754 S 1edsiok &Lt
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SPP ZLIE{Zof| CHE 2tad .

show spp node-counters

show spp client

0| show spp node-counters HHE2 HEE/AEl TiZ/o| HIE S 2047 47| €1 OlsHst7| e&Lct BGP MlMe| AL B st
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E{7} &4 RPclient/punt Of2H & client/inject {lofl A& LICH

of Eishow spp dient & LS B30, 30| B0l A= BE SatolH=ol Thah Fol S ALXIE W2l ol CHEt Cf A2t

<#root>
RP/0/RPO/CPUOQ:xrvok-01#

show spp node-counters

0/ RPO/ CPUO:

socket/rx Punted packets: 595305 Punt bulk reads: 6 Punt non-bulk reads: 595293 Management packets: 74

client/inject Injected fromclient: 140534413 Non-bulk injects: 140534413 ----------mmmmmmmmmm oo

——————————————————————————————— 0/0/CPUO: <. . .>

<tfroot>
RP/O/RPO/CPUO: xrvOk-01#

show spp client

Sat Apr 20 17:11:40.725 UTC 0/RPO/CPUO: Clients ======= <. . .> netio, JID 254 (pid 4591) ------———---
NetlO 2 L|E{&
EBIME ST BIM7E £2H6tLE AKIE THZIO] £8F E AISHXISH NetlO B0l RPCPUZ HEE HZ/o| HIE S &olE
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<#froot>



Command:

show netio rates

of:

<#root>
RP/0/RPO/CPUO:xrvok-01#

show netio rates

Netio packet rate for node 0/RPO/CPUQ -----------——-—————— - Current rate (updated 0 seco

Hn= LHE:

- NelOBE7h A WalE HoZ 4T B2, 09 2R R 2 HES B0 HZPS RYUE UESI EE2R| ¥
ArEtg 37| AlstetLch

AW HES| Ho|E F=2:

o HHHENME S7t otLlet 7H2E S AEE|YsHok StEE MY 4 gl&LICH BGP-known LPTS policer accept 7+
2EE LU ER ZHEIM ALE3t0d L4 Lo{oll M =4I BGP T ZI2| B S & 2 A + JU&LICH

XIPCCHZ | 2 LIE T

NetlO7F LPTSOI M =418t punt Z2 A2 T
1. NetlO7} A E TCPE T ste TCP =2 MR 7
2.BGP Alo] 7

3.BGPEClO|E 7

(@)
0
Pl
9
Hu
ra
e
o
r
ul
o
o
rok
fm}
N
e
mjo
I
C
m
om
_o'l_l
rr
»
o
O
k0
o
r
ul
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«  OutputL XIPC

0424
oS o.

show netio clients show processes bgp | i "Job Id" show xipcq jid <bgp_job_id> show xipcq jid <bgp_job_id> queue-id <n>



of:

NetlO0| A TCPZ, NetlO2| X0 E7|:

RP/0/RPO/CPUO:xrv9k-01#show netio clients <. . .> Input Punt XIPC InputQ XIPC PuntQ ClientID Drop/Total Drop/Total Cur/High/Max Cur/High/Max

TCPO{| A NetlOZ, NetlO2] 2 &0l AM E7|:

RP/0/RPO/CPUO:xrv9k-01#show netio clients <. . .> XIPC queues Dropped/Queued Cur/High/Max Outy

NetlO0|M TCPE, TCP Z2 M| A EXEM E7|:

<#root>
RP/0/RPO/CPUO:xrvok-01#
show processes tcp

| i "Job Id"
Job Id: 430
RP/0/RPO/CPUO: xrv9k-01#

show xi pcq jid

430 Mon Apr 17 16:16:11.315 CEST Id Name Size Cur Size Produced Dropped HWM ------ —ccommmmmmmo———

TCP-BGP:

<#root>
RP/O/RPO/CPUO:xrvok-01#
show processes bgp
| i "Job Id" Job Id: 1078 RP/0/RPO/CPUO:xrv9k-01#
show xipcq jid

1078 Mon Apr 17 16:09:33.046 CEST Id Name Size Cur Size Produced Dropped HWM ------ ————comm———

BGP Ol|O|E{ 7:

<ffroot>

RP/0/RPO/CPUOQ:xrv9k-01#



show xipcq jid
1078
queue-id 1

XIPC_xipcg_12_0_9854_6506_inst_1_data_toapp

Magic: 12344321 Version: 0 SHM Size: 192392 Owner PID: 9854 Owner JID: 1078 Queue ID: 1 Owner MQ handl

BGP AN|o{ F:

<#root>
RP/O/RPO/CPUQ:xrvIk-01#
show xi pcq jid

1078

queue-id

2 XIPC_xipcq_12_0_9854_6506_inst_1_ctril_toapp: Magic: 12344321 Version: 0 SHM Size: 480392 Owner PID:

o= LHE:

o 2R 7ol AR EIX| ofokok BfLICt.

+  XIPCOH7|¥ &7 HWM(high watermark)O| CHZ |4 2719 50% & Z1tsi M ¢ EL|ch.

sto| RIE{O= gt TIstE o & FX5ted™ oIS motct 5to| YIE{0tT 2tg XIfoF ELict o] B HWM FHRE{EH X|X|= 20|
ofLlet 2E CH7|Y¥ SH T RIHELICH XIPCTHZ ¥ SHE X2 7| et BYo| FAI2 O3t Z&LICH clear xipeq statistics queue-

name <queue_name>

CH7|Y o|E0i S5 ZZMA ID(PID)7} ZEE|E 2 T2 MA KA % 7| o|S 0| HAE LICH

#HE T7|Y SHE X|97| 9 BFe| E 7tx| o= S Z&LCh

clear xipcq statistics queue-name XIPC_tcp_i0

clear xipcq statistics queue-name XI1PC_tcp_il

clear xipcq statistics queue-name XI1PC_xipcq_12_0 9854 6506 inst_1 data toapp
clear xipcq statistics queue-name XIPC_xipcq_12_0 9854 6506 inst_1 ctrl_toapp
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show bgp <AFI> <SAFI> summary

of:

RP/0/RPO/CPUO:xrv9k-01#show bgp al al summary Address Family: VPNv4 Unicast

BGP router identifier 192.168.0.1, local A
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Cisco-10S-XR-ipv4-bgp-oper:bgp
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show bgp <AFI> <SAFI> summary



of:

RP/0/RPO/CPUO:xrv9k-01#show bgp al al summary Address Family: VPNv4 Unicast BGP router identifier 192.168.0.1, local A

RR 22} 0[21E CH7|Qo| MsgSent &2 7{9| ZX|BF LUE 0|2 MsgRevd =7t CHE HIO|HEL =2 4= U&LICH HAIX| £ &

ExM7t £l= m|o{E Aledst 2 o= show bgp neighbor <neighbor> detail 2! show bgp neighbor <neighbor> perfor mance-statistics £
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I show bgp al al summary &= 0424 4 T Z|of CHEF Mo M Ho|HY SUE FI2EHE =2 + YUsLIcH
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DE 2RE0IM CPU ALE E S ZLIEZSHoF 5HX|BF HEE E28i|Q T8 CPU Z0{ 7} B2 2t EoME &
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£ &Ll XRvok Appliance@t ZH0| RP(Routing Processor) T1& CPU 204 =7} Bt BGPRRO|ME &

LS — =
E cPU Zo{o|lM A™E|X|TH & MEC| CPU Z0o{E BALICH O AT Y8 CcPU 0= TR AFSE0| B8 £ QIX|BF 2 E CcPU
Fo{ol M ALEl MA CPU AIEER ES =& SXIgLICh

[2tM CLIE Sall CPU 20{ AHES &S MASHH ZLIE A 5248 O HZE show processescpu thread AtE & LICEH

TCP&AH Z2LIEHZ

Cisco I0OS®E ZE TCP M|Moi| CHEF RtMIEH SHE R K| 2 EIRfLICH CLI BE2 ZE 7I& TCP M2 S 52 show tep brief EA|
grLich ol 29 £3olMzE ZE TCP MM CH3 CHS HEE £ 4+ &Lt

o PCB: I8 TCP Ml4d AldX}.

*  VRF-ID: M|M0| /= VRFQ| IDIL|CH.
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show cef vrf al summary | utility egrep "A"VRF:|Vrfid" | utility egrep -B1 <VRF-ID>
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+ Local Address(2Z FA): TCP AN HAZ4E 22 IPv4 L& IPv6 FAQILICH LISTEN 4 EJQ| TCP HM2 Ytxo =2
"any" IP F40f HFQIZEILICE Ol= ZHZt IPv4 EE= 1PV B "0.0.0.0" = ":"S 2 EAIELCH

A IPv4 EE= IPv6 FAULICH LISTEN #EfQ| TCP MIM2 LUEHE S E "any” IP F 20
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o AEl: TCP MM ArEHQILICE 7Hs B TCP M44 AFENE LISTEN, SYNSENT, SYNRCVD, ESTAB, LASTACK, CLOSING,
CLOSEWAIT, FINWAITZ, FINWAIT2, TIMEWAIT, CLOSED &I L|C}.
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RP/0/RSPO/CPUO: A SR9k-B#show tcp brief | include "PCB|:179 " PCB VRF-ID Recv-Q Send-Q Loca Address Foreign Address State 0x00007ff7d403bd

EATE PCB Zt2 AHE5t0d 5 TCP MlMoi CHEF SHIE & Qg = UELICH TCP Z2MA SHof et HEE M3 5= cLI 3!

show tcp statistics clients location <active RP>

show tcp statistics summary location <active RP>

show tcp brief | i ":179"
show tcp detail pcb <pch> location 0/RPO/CPUO

show tcp statistics pch <pcb> location <active RP>
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B £240| g4 7} 2E{=show tcp detail pcb CHS 1t ZH&LICH

« RetransTimer Starts: "HES EFO|H7 A|ZHEl R+ E LIEFHLCH
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<tfroot>
RP/0/RSPO/CPUO: A SROK-B#

show tcp detail pcb 0x4a4400e4

CHZ (€0 A CHZ|E HIO|E

Current send queue size in bytes: 0 (max 16384)

Current receive queue size in bytes: 0 (max 65535)

m s-ordered: O bytes

Current receive queue size in packets: 0 (max 60)

Timer Starts Wakeups Next (nsec)

Retrans 2795 0 O

Connection state is ESTAB, I/0 status:

SendWnd 1341 0 0 TimeWait O O O AckHold 274 2 0 KeepAlive 333 1 299983 PmtuAger 0 O O GiveUp 0 0 O Thro

SRTT: 162 ms, RTTO: 415 ms, RTV: 253 ms, KRTT: O ms

minRTT: 0 ms, maxRTT: 247 ms ACK hold time: 200 ms, Keepalive time: 300 sec, SYN waittime: 30 sec Giveu

HZE A8 E ZLIEHTY

BGP ZZ H|O|E2 BGP ZZ M A & HEZ2lo XMEELICH 2t2E Eo|E2 RIB Z2Z M A & HZ2 2|0l X&E L|Ct.

Y HZE ZLE R8E THE

show memory summary
show memory summary detail
show memory-top-consumers

show memory heap summary all
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Cisco-10S-X R-nto-misc-oper:memory-summary/nodes/node/detail
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show memory summary
show memory summary detail

show shmwin summary

BGP ZZMA M5 ZLIEZ

BGP ZZM|A H50i CHEr LHF CIOIHE MSste /8 B3:

show bgp process performance-statistics

show bgp process performance-statistics detail
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HF LTt show bgp convergence
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RP/0/RPO/CPUO: A SR9k-B#show bgp convergence Mon Dec 18 13:55:47.976 UTC Converged. All received routesin RIB, al neighbors updated. All neic
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